14.5 Volume of Pyramids p.616

The volume of a pyramid is one-third the product of the area of the base and the -
height of the pyramid.

area of base, B

B = the area of the BASE of the pyramid
H = the height of the pyramid (not the slant height)
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« The volume is 144 cubic millimeters.

Find the volume of each pyramid:

a. b.

3 ft 6m




| 2. AR\
in~z" 1\ M\
/< N
Valnh 4
c."l: - ___y/’r‘
' (s () _
3 ' '7(:93(,, ﬁ
F- 3
3= = (Haee?®
* dont Use
repe ety
decim 3
a) The volume of sunscreen in Bottle B is about
how many times the volume in Bottle A? Bottly A Bottly B
a) (2YNW) 3(15)(Y)
b) Which is the better buy? 3 3
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c) Bottle C is on sale for $13.20 Is Bottle C a better Bottle C
buy than Bottle B? Explain. T —E
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Bottle B navewes, it costs $0.20 less it
Boe Cis the Vetker buy ! B



